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1. HEAREZE:
D BLREA:
0.1g BRHFAR (KOFREMHEAREIWE 02g £4) , I ImL MRBURKAI R, HIRRSHE
#%Z| EP B, 12000rpm, 4°CE(r 10min, FiERFEN.,
@ MR/ REREA
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2. ENAHSITE:
BRIENX: 7£37°C, BmARE/NFERK lnmoLH0, EX A—EEEEAM (U) .
GOD (umoL/h/g 8 8)=[(AA+0.0212)=11.151]+(WxV1=V):T =13.45%(AA+0.0212)~W
3. BREAERREITE:
BNEX: #37°C, BERTARELT/NEER lumoLH0: EX A— N EELEAM (U) .
GOD (umoL/h/mg prot)=[(AA+0.0212)+11.151]+(V1xCpr) ~T=13.45x(AA+0.0212)+Cpr

4, RYRE/AEEEITE:
BNEX: £ 37°C, 8 10*N/ME S/ N AR lpmoLH0: EX A—NMEEEA (U) o
GOD (umoL/h/10% cell)=[(AA+0.0212)=11.151]+(500x V1+V)=T=0.027x(AA+0.0212)

V---IIARRBUR TR, 1 mL; VI1---IINBEAREF, 0.02mL;
T---R Rz AF{a], 20min=1/3h; W HARE, g

500---4AfREE, T3,

Cpr—HABARRE, mgml, BERAALASMN BCA BARERNURAE.

B AR dh &I AR

I fHlEtfERER (250umol/mL) .

2 EREBBEEMTWRE: 0, 05, 1, 1.5, 2, 2.5umol/mL, BT RIFESLFRAEIRE.
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